
 
 
Chemické reakce - Vyčíslování redoxních rovnic 
 
Vyčíslete rovnice následujících oxidačně redukčních reakcí: 
1)  As + HNO3 + H2O→ H3AsO4 + NO 
 
2)   I2 + HNO3 →HIO3 + NO + H2O 
 
3)   H2S + HIO3 →S + I2 + H2O 
 
4)   KI + K2Cr2O7 + H2SO4 →I2 + Cr2 (SO4)3 + K2SO4 + H2O 
 
5)   Br2 + KOH→ KBr + KBrO3 + H2O 
 
6)   Cl2 + NaOH→ NaCl + NaClO + H2O 
 
7)   H2S + H2SO3→ S + H2O 
 
8)   Cu + HNO3 →Cu(NO3)2 + NO + H2O 
 
9)   K2Cr2O7 + HCl →KCl + CrCl3 + Cl2 + H2O 
 
10)  MnO4

- + Fe2+ + H+ →Mn2+ + Fe3+ + H2O 
 
11) Br- + Cr2O7 

2- + H+ →Br2 + Cr3+ + H2O 
 
12)  As2S3 + HNO3 →H2SO4 + H3AsO4 + NO2 + H2O 
 
13) Fe + Cl2 → FeCl3 

 
14) HI + H2SO4→ I2 + H2S + H2O 
 
15) Cu + HNO3 → Cu(NO3)2 + H2O + NO 
 
16) KClO3→ → KCl + KClO4 
 
17) As2S3 + HNO3→  H3AsO4 + S + NO2 + H2O 
 
18) Cr2O3 + KNO3 + KOH → K2CrO4 + KNO2 + H2O 
 
19) H2S + HIO3 → S + I2 + H2O 
 
20) AsH3 + HNO3 → H3AsO4 + NO2 + H2O 
 
21) As + HNO3 + H2O→ H3AsO4 + NO 
 



 
 
22) I2 + HNO3 →HIO3 + NO + H2O 
 
23) Fe + HNO3 →Fe(NO3)3 + NO + H2O 
 
24) K2MnO4 + H2O → KMnO4 + MnO2 + KOH 
25) Zn + HNO3 → Zn(NO3)2 + NH4NO3 + H2O 
 
26) NaOH + Cl2 → NaClO3 + NaCl + H2O 
 
27) MnO4

2- + I- + H+ → Mn2+ + I2 + H2O 
 
28) Cr2O7

2- + Cl- + H+ → Cr3+ + Cl2 + H2O 
 
29) MnO4 + NO2+ H+ → Mn2+ + NO3

-+ H2O 
 
30) CrO4

2- + I- + H+ →Cr3+ + I2 + H2O 
 
31) CuS + HNO3 → Cu(NO3)2 + H2SO4 + NO2 + H2O 
 
32) KI + CuSO4 → CuI + I2 + K2SO4 
 
33) HIO3 + FeSO4 + H2SO4 → I2 + Fe2(SO4)3 + H2O 
 
34) H2O2 + I-+ H+ → H2O + I2 
 
35) Na2S2O3 + Cl2 + H2O →NaHSO4 + HCl 


